




















MATHS MADE EASY

8
Do not writs
outside the
/9 In a sport, injury time is added time played at the end of a match. &

The table shows the injury time, ¢ (minutes) played in 380 matches.

T Injury time, 7 (minutes) Frequency 7
0<i1g2 1 7—”—59 1

1 2<i1g4 158
 dsedd | 4|

6<1<8 45

8<rg10 12

9 (a) Circle the two words that describe the data.

|
|
ﬁ continuous

|

discrete

9 (b) Which class interval contains the median?
!

You must show your working.

380+ 2 = 150

[1 mark] |

ungrouped

[2 marks]

594 183 = &V

Answer 2

<t L\.

N
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Do not write

outside the
Ali and Mel are making 3-digit codes. e
The digit 0 is not used. \ 1243, 4,5, 6,3 4,9
Ali only uses odd digits.

Mel only uses even digits.

Ali can make x more codes than Mel.
Assume that digits cannot be repeated.

Work out the value of x.

[3 marks]
Bt ¢ 5% U RE = 6D cosas ‘
Ml USRI RZL = 9K Codas
b0 -24 = 36 =
Answer 3
In fact, digits can be repeated.
What does this tell you about the actual value of x?
Tick one box.
[1 mark]

e

V1 It is bigger than my answer to part (a)

It is smaller than my answer to part (a)

It is the same as my answer to part (a)
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\_*7~” R i ik R | . - = A F il Do not write
outside the
15 Here is line L and the graph of y=x-1 .
i The scales of the axes are not shown. ‘
‘ VA |
| 2R Eacs T |
’ BB T |
\v} |
l \_-_. H 5 A
N i ot I
w i ﬂ
- e
| | iR FERE Basds iah y=x-1
T 2 NG i il
l { LS S B -
ST G T N e e
B Hills ! CET me ]
i EEE R = HAE PR P
’ l T 08 N L
Work out the equation of line L.
[4 marks]
The Scale fo€ HHae HK-oxis (s dowbie the |
r
5, anris  ( geadune e 12 = N
3-9 3
goadaatr o \—-=2X‘o_“=-/z
L: 4-0="345(x-12)
y = "3 3
e
= 5 X +
Answer 3 2 3 1
\
|
18
Bl Turn over »
A it
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L = Do not write
| outsido the
ABC and ACD are triangles. | "
\
B Not drawn
accurately
A
19¢cm
ey b
36°
—
D
C 14 cm
The area of ACD is 80.5 cm? ‘.
Work out the area of ABC.
Give your answer to 3 significant figures.
[4 marks]

oSx AGC xlh= 805

=7 B¢ = 208§ 5F =0 em

\ 2
Aca of o Mangle = /D absSinC

an-

Arca. 6§ ABC = 0°-S X 9 ¢« 1S x Sin 36

et Q)L(-'Z,

A ] ;

Answer cm

MmN
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_____ p— = = . Do not wnte
outside the
Show that (543 - +12)* simplifies to an integer. o

[3 marks] |

(sJ3 o) = s (573 -T) (R -Ji2)
= (S¥@)"- 2 (5V3 «Jin) +(I2)’

= 35 - 2(5V34) +\2

FS-%0 v = g1

(

A and B are similar cuboids.
surface area of A : surface area of B =16 : 25

Work out  volume of A : volume of B
Circle your answer.

4:8 16:25 256 : 625

[1 mark]

1B/M/Jun18/8300/2H
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= T T = ~ | Do not write
| outsida the
Here is a sketch of the curve  y =x° + 4x — 12 lim
!
YA ‘
|
|
|
|
—la 0 / 2 x ‘
|
|
Work out the values of x for which x> +4x~12<0 |
Give your answer as an inequality. ‘
[3 marks] |
™+ ux -1 = (Fre)le-2)
Answer ~b< X<12
|
|
7

Turn over »
1B/M/Jun19/8300/2H
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A sample of 50 eggs is taken from Farm A.

The table shows information about the masses of the eggs from Farm A.

Farm A
L Mass, m (grams) Frequency
53 <m <58 8
58 <m < 63 19
63 <m < 68 15
68<m<73 8

A sample of 50 eggs is taken from Farm B.
The histogram shows information about the masses of the eggs from Farm B.

Frequency
density

25+

2.0

1.5

1.0

0.5

0.0

30{—

— 07—

| Do not write
oulside the
box

050 55 60 65 70

75 80 85 90

Mass (grams)
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Do not wnite
outside the
box

For medium eggs, 53g<mass<63g
The Farm A sample has more medium eggs than the Farm B sample.

Using the table and the histogram, estimate how many more.
You must show your working.
[4 marks] |
famB: 50-55 = S eggs So 53-55 = 2e33s

§S- 65 = loxz= 20 eggys = et

2
S6 55-63 =75 azo = lbegss

Forvm B | mudaen e39s = 14 eygs

Lfanmn A, madum &§3s = g +\q = T# 233s

Answer 9 mere €959s.

Turn over for the next question

e

Turn over »
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